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ECE 3455
Quiz #2
February 12, 2002

1. This quiz is closed book, closed notes.

2. Show dll work necessary to complete the problem on these pages. If you go on
to another page, indicate clearly where your work can be found. A solution without
the work shown will receive no credit.

3. Show all units in expressions and figures.

4. You will have 30 minutes to work on this quiz.
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N a) Choose values for the parameters R, and R, so that the frequency response is that
' of a bandpass filter with poles at 500 and 10,000 rad’s.
¢  b) Calculate the gain in the passband, expressed in dB. :

¢ o ) On the paper provided, draw the phase Bode plot for this amplifier. Be sure
K your plot has numbers provided on both axes so that it can be properly read.
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ECE 3455
Quiz #2
February 12, 2002

1. This quiz is closed book, closed notes.
2. Show all work necessary to complete the problem on these pages. If you ga on

to another page, clearly where your work can be¢ found. A solution without
the work shown will receive no credit.

3. Show all units in expressions and figures.
4. You will have 30 minutes to work on this quiz.
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[image: image6.png]The circuit diagram below shows an amplifier whose transfer function V,/V; is

I(0)= - 4,(joC,R)
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343 a) Choose values for the parameters R, and R; so that the frequency response is that
of a bandpass filter with poles at 1,000 and 20,000 rad/s.
N ¥ b) Calculate the gain in the passband, expressed in dB.
o ¢) On the paper provided, draw the phase Bode plot for this amplifier. Be sure
1Y your plot has numbers provided on both axes so that it can be properly read.
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